# SRA RETAIL AWARDS GALA DINNER 2023 -TABLE SALES CONFIRMATION FORM

## YES ! We would like to sponsor table(s) for the SRA Retail Awards Gala Dinner 2023 on Thursday 16 November 2023 at Fairmont Singapore (Padang & Collyer Room)

Platinum @ \$18,000 <sup>*^</sup> per 2 tables
Gold @ \$12,000*^ per table
Silver @ \$5,000 <sup>*^</sup> per table
 Bronze @ \$3,000*^ per table
 Individual @ \$450 * per seat

\*Price is subject to 8% GST. ^Table of 10 seats

Please transfer total sum of \$\_\_\_\_\_payable to SRA's bank account at:-

Account Name	: Singapore Retailers Associati	on
Account Number	: 504-046913-001	
Bank Name	: Overseas-Chinese Banking C	Corporation Limited
Bank Address	: 65 Chulia Street, OCBC Cent	re, Singapore 049513
Bank Code	: 7339	Swift Code : OCBCSGSG
Branch Name	: OCBC Centre Branch	Branch Code: 504

For cheque payments, please pay to "**Singapore Retailers Association**". Mail it with your completed Form to Singapore Retailers Association at 1 Coleman Street, The Adelphi, #05-11B, S(179803). Cheques must be cleared at least one week ahead of the event date before invitation cards will be emailed to sponsors.

Please confirm your table purchase **<u>before Friday, 27 October 2023</u>**. Please contact Anwar Roslan at <u>anwar@sra.org.sg</u> or 8893 0796 if you need any clarifications.

## Our company details are as follows: -

Name of Company	: <u>.</u>
Contact Person	:
Designation	:
Address	:
	Postal Code:
Tel.	:
Email	:
Address Tel.	: Postal Code:

Name & Signature of Authorised Signatory / Date

Company's Stamp

### Appendix A

# SRA RETAIL AWARDS GALA DINNER 2023 - TABLE PRICING TIERS AND BENEFITS

Benefits as per Sponsorship Package*	Platinum @ \$18,000	Gold @ \$12,000	Silver @ \$5,000	Bronze @ \$3,000
Gift bag^	*	*	*	*
Seating of a table of 10 pax (unless otherwise stated)	2 tables	*	*	*
Corporate branding featured on each table	*	*	*	-
Complimentary champagne per table	3 bottles	3 bottles	1 bottle	-
Double the chances during lucky draw	*	*	*	-
Premium seats (nearer to the stage)	*	*	-	-
Credit mention on table menu/programme booklet	*	*	-	-
Company logo & hyperlink on SRA website (pre/post event)	*	*	-	-
Credit mention on SRA social media platforms	*	*	-	-
Valued Retail Industry Partners plaque	*	*	-	-
Priority service staff	*	-	-	-
Credit mention during opening speech by Emcee	*	-	-	-

\* All prices are subjected to 8% GST.

# SRA RETAIL AWARDS GALA DINNER 2023 - PRIZE SPONSORSHIP FORM

# YES ! We would like to sponsor prize(s) for the SRA Retail Awards Gala Dinner 2023 on Thursday 16 November 2023 at Fairmont Singapore (Padang & Collyer Room)

Please return completed form via email <u>before Friday 27 October 2023</u> to enjoy due recognition in the programme booklet and on SRA's website/social media platforms. For any queries, please feel free to contact Mr Anwar Roslan at anwar@sra.org.sg or 8893 0796.

Prize Category	Estimated Value of Each Prize (S\$)	Minimum Sponsorship Quantity per Sponsor	Total Value based on Minimum Sponsorship Quantity (S\$)	Yes, we will be sponsoring this! Indicate Quantity Sponsored
1 <sup>st</sup>	\$5,000	2	\$10,000	
2 <sup>nd</sup>	\$4,000	2	\$8,000	
3 <sup>rd</sup>	\$2,000	3	\$6,000	
$4^{th} - 10^{th}$	\$1,500	7	\$10,500	
$11^{th} - 20^{th}$	\$800	10	\$8,000	
$21^{st} - 40^{th}$	\$300	20	\$6,000	
41 <sup>st</sup> - 60 <sup>th</sup>	\$100	20	\$2,000	
61 <sup>st</sup> - 100 <sup>th</sup>	\$50	40	\$9,000	

### 1. Please confirm your sponsorship in the table below:

Goodie Bag Gifts of Each Prize (S\$)		Minimum Sponsorship Quantity per Sponsor	Total Value based on Minimum Sponsorship Quantity (S\$)	Yes, we will be sponsoring this! Indicate Quantity Sponsored
<ul> <li>Power Banks (&gt;10,000mAh)</li> <li>Health / Beauty Supplements</li> <li>Universal/Travel Adaptor</li> </ul>	\$15.00 - \$25.00	650	\$16,250	
\$10 shopping / dining vouchers (no min. spend required. Total of 7 sponsors needed)	\$10.00	100 (Min)	\$1,000 (per Sponsor)	

Singapore Retailers Association

Address: 1 Coleman Street The Adelphi #05-11B Singapore 179803 Tel: (65) 63600188 Fax: (65) 63347303 E- Mail: info@sra.org.sg Website: www.sra.org.sg

Please	provide	a brief	descri	otion of	f the	prize(s	s) s	ponsored:
						P	-, -	


#### 2. Please select one of the following arrangements:

Prize(s) will be delivered to SRA

Prize(s) to be collected\*\* at Sponsor's office

\*\* only for bulky items. Prize letters are recommended,.

#### 3. Please fill in the details below:

Name of Company	·
	:
Designation	:
Address	:
	Postal Code:
Office. No.	: Mobile :
Email	·

Name & Signature of Authorised Signatory / Date

Company's Stamp